Score: out of 10.

Math 271 - Quiz #1

Name: @

]

| Show all work clearly and in order. Please box your answers. 10 minutes.

1. Fill in the following table with the missing classification information:

DE order | linear/nonlinear
dzy" +2zy —y =10 3 ltnear
doy\’ .
(&) +(2)=smio) [ 5 | vstier
sin(z)y™ + In(z)y’ = cos(z) | H . linear

2. Verify that y = cos(4x) is a solution to the differential equation y” + 16y L 0.

3’= ~Hsw (Yx) ,
y' = ~ 16 cos (M%) -

LHS = y" 4 léuj
= —lbcos (4x) + b (COS(WQ)
= 0

" =gjus

!

3. Find the value(s) of m so that y = e™® is a solution to the differential equation .

3y +5y=0.
y ‘= me™
?"j"“gj =0  bewws

Ime” " + Se"” = O

emx(zm +‘Y‘) = O |




